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Let’s make
adeal

| need two electrons

In this video, | am going to explain how the The covalent compound Sulfur dioxide forms The two oxygen atoms and the sulfur atom
covalent compound Sulfur dioxide, forms because naturally ocurring sulfur needs two share their electrons and complete their
and-how-the-ionic-compound-calcium electrons to complete their valence shell, and valence shells
phosfide forms oxygen needs two electrons to complete it’s

valence-shell

| want to give away
two electrons!

|~ .

| need one electron!

This forms sulfur dioxide, which is a covalent Calcium phosfide is an ionic coumpound Calcium phosfide consists of one calcium atom
compound and a gas at room temperature. Sulfur commenty used in torpedos, fireworks, and and two phosferous atoms. Calcium needs to
flares. give away two electrons to complete it’s valence

dioxide isthe gas responsible for the burnt smell

from fire shell, and a phosferous atom wants one

electron



The calcium atom gives away one electron to

calcium’s and phosferous’s valence shells

End scene




Sulfur dioxide




Calcium phosfide










